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36445
- 9945 +2443 +445

= (36- 9 + 2 +1) 445
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18-x4 : 2
+3x4

= 1x4 -2
+3x8 - x8 +3x8

= 1x8 + 3x8 - x8 +3x8

= (1+3 -1+3)x8
= 6x8



(213 - 43) + zy6
=

2 .113 + 3 # 246
I 26 + zy6
= (2+2)7 6
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Review
-

Tqscy/Ayalgeor
nowwiqcov

By
*
+ Ex

*
= (B+ E1)x*

1 y - kxx
*
= (is - Ex) x*

Tagadzijua :
3 x +7x = (3+7) xS-

= 10XS

3x5 -7x = (3-7)x=
=

- 4*S



Review
-

Avagwyn opow que

ziqa
3x3 + 8x +7x +3x6

- Bylokw za uoca /ovivoqua
3x Kac 7x cival foca
&x Kal 3x6 sivas poca
-MyoRzw za poca Govdrupa
3x + 8x +7x5 +4x6
= 3x + 7x3 + 0x8+3x6
= 10x3 + 11x6


